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AP Chemistry Name
Partner Quiz: Sections 16.1 - 16.7 Date 205 (R Period

Directions: Choose the best answer for each of the following questions. Darken in all
of your answers on your scantron. You may use a calculator. There is only one correct

answer for each question! Notes, handouts, problem sets and problems we worked in
class are allowed on this quiz. (25 points)

—

4. A Bronsted-Lowry acid is defined as a substance that
a. increases [H*] when placed in H>0

b. decreases [H*] when placed in H20

c. increases [OH"] when placed in H20

d. acts as a proton acceptor in any system
@ acts as a proton donor in any system

@ 2. A substance that is capable of acting as both acid and as base is
a. autosomal
b. conjugated
(S amphoteric
d. autocratic
e. aceybasey

@ 3. What is the conjugate acid of NH,?
a. NH, b. NH,* c. NH,' e. NH,OH

:@4. What is the conjugate acid of OH™?

a. 0, b. O° d. 0* e. OH

G
:ﬁ) 5. What is the pH of a solution in which the molar concentration of HCl is 1.3 x 10-117
a. 1.00 (b)10.89 €. 301 d. 6.00 e. 7.00

pi==log (1-3c1-1)

@ 6. What is the pH of a 0.015 M solution of barium hydroxide?
Za.) 12.48 b. 12.08 c. 1.82 d. 10.35 e. 1.52

L0\ M BuoH), = , 030 Kow— i Pow= _(‘>$ @3¢#)1 /52

@7. In basic solution,
a. [H,0%]=[oH"] d. [H,0']=0 M /’H‘ =y~ t5e =

b. [H,0']>[oH] e. [oH]>7.00 @

© [mol<[om]

n) 8. A weak base ionizes 2.30 %. If the initial concentration of the base is 0.0100 M, then the pH

of this solution is and the Kp is ‘ Y
= o T= 23eLT — Xloo
a. 10.36; 2.3 x 10°6 (d) 10.36; 5:4% 106 T otsoin
b. 3.64; 5.4 x 106 e. 10.36; 1.9x 109

X = (;bh"] = Q.;xlo"lll,‘

@'3"""7)1 ,éﬁ.l po¥ = — (°‘)('2-3*l¢“¢ﬂ) - 3Ly
b @ " e

c. 3.64; 1.9x 109
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9. All of the strong acids are compounds. All of the strong bases are
compounds.

molecular, ionic
ionic,molecular
amphoteric, ionic
molecular, amphoteric
ionic, amphoteric

panoco

(A)10. Of the following, is a weak acid.
a. HF b. HCI c. HBr d. HNO3 e. HC 104

@ 11.  Which one of the following is the weakest acid?
HF (Ka = 6.8 x 1074)

a

b. HCIO (Kg = 3.0 x 10-8)
HNO2 (Ka = 4.5 x 1074)
HCN (Ka = 4.9 x 10°10)

e. Acetic acid (Kg = 1.8 x 1075)

a o

12. HAis a weak acid. An aqueous solution of HA is prepared by dissolving 0.020 mol of HA
in sufficient water to yield 1.00 L of solution. The pH of the solution was 4.93 at 25°C. The Ka

of HA‘fZ - - W+ Mo < 6306+ AT 4
a. 1.2 x -
6l —_ = : -
b. 7.0 x 107 &1 sn (f?-*ﬁ§“{
c. 1.4x10° el —» v X
-2
d. 9.9x 102 (€] . vao-x & x e CosT
e. 2.8x10 (1216 SRy \p p= ~log u‘io
ka= - N Ttz /6"
_- % ol — (Ixls™S ( H3e
E 13. TheKjzof HCIOE_?:Q_x_l_ -8. What is the pH at 25°C of an aqueous solution that is
0.020 M in HCIO? X< - FuT
a. +2.45 -% - Z AYsile SM =
b. -2.45 «u; J.6%x Lo 6 028 =X ) X X
c. -9.22

d. +9.22

(& +4:61 ph= —log (a0 wSM) = [YC

@14. A 0.0035 M aqueous solution of a particular compound as pH = 2.46. The compound is
a. a weak base

e SRS _ loyg (os3sH) = 2.4¢

. a strong base
e. asalt



15. The pH of a 0.10 M solution of a weak base is 9.82. What is the Ky, for this base?

a. 2.1x10% B « LLLO = kB « oW~ Pt 76

b. 49x 108 T LM = 1 pod = 4.1

c. 8.8x108 Qe =X % > / -1y

d. 6.6x 104 E .io-r r ™ ) G L= 1o

e. 2.0x10™> (é.(.';\ltffj = é.(ﬂlo"sl;l
kp=  ——Tes T (4get’

16. How many liters of distilled H2O must be added to 1.0 liter of an aqueous solution of HCI
with a pH of 1 in order to create a solution with a pH of 2?

a. 10.L _ H=2
b. 0.90 L My, = Mo, A |
rh (Tomed) = cown)l,  CHl( =0l
e. 1000L
/1/2: [0 LI Ss s d 4> odd
¢ == G0 &
17. Which one of the following species is best classified as amphoteric?
a. HNO3 b. HCoH302 c. HSO3~ d. H3PO4 e. CilOg4”
HNE

18. _ Which of the following is the acid anhydride of a monoprotic acid?
a. Ga0 b. SO3 c. FeQ d. COy e. N2Os
HISC' 3 H‘;_CO 1 \
19. If 50.0 mL of a 0.0134 M HCI solution is mixed with 24.0 mL of a 0.0250 M NaOH ',
solution, what is the pH of the final mixture?

b ion Hel + Naon —— Na@( —+ KO0 HWLoo
c. 5.29 Belawe A5 VRN Crls Mo W ed o
d. 3.02 i _

e. 10.98 Rum —Cx & hll  —Cxls™ %A

g - Lete ke BRI ?-QCXIO—Q/“(
AGh, -y o _ | egexntm
Ry Q\_l&fye \-—"/‘-D <0 KL u P“- = 3-‘51}

20.. What is the percent dissociation of a 0,15 M HCN solution? (Ka for HCN is 4.9 x 10-10)

a. 7.35x 10711 X2
b. 8.57 x 10°3 g - =
G o ~

c. 8.57x10°3 7 JS-X
d. 5.71x 1073 -
e. 5.71x107 C.5axle M

. =t =

S’S'-)XIO v [(n) -

Oe (S
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How many moles of HC2H303 in a 200. mL solution are required to produce a solution

Z
with pH = 2.900? Kj for HCoH305 = 1.80 x 10-5. 16~ 2%)
a. 1.79 x 1072 [y le™S = o ~2 90
¥y te HCa H56, [ — (0
b. 8.82x 102 Cheator, ] .
c. 8.95x 1072 . f) c _ 5 ( -&
_ - Ho,ue ] — 2.26 & = -Uaw
d. 1.62 x 10-3 Q £y le ( 138, R-26 x [o 2-Un )
-3
e 1.79x10 U HG e, ]l = . C&F M
. O}9 I 1E
573 ek I /: Ao’H?mL
C U
22." Ascorbic acid, H2CgHgOg, is a polyprotic acid containing two ionizable hydrogens. Kai is
8.0 x 107> and Ka2 is 1.6 x 10712, Calculate the pH of a 2.0 x 10°3 M solution of ascorbic
; 2
acid. e X
a. pH=3.40 Corld 2
b. Ph =4.50 Aoxle ®-¥%
c. pH=1.20 -
d. pH = 5.10 < Qu) = Gy
e. pH=5.85 —
ZP1+ ) 3‘%’] o 22M
23.  Kp for trimethylamine, (CH3)3N, a weak base, is 7.4 x 10~3. What is [OH™] in @ 0.0450 M
trimethyl amine solution? | e X< @L‘})’p e & Hu) e o
a. 3.3x10°0M 2yl — |t .@» 3
b. Y.@x 103 M - s~ x ‘ ”
i Q - ®
c. 1.2x103M B Re y
d. 2.6x1072M [up] - Coe X
e. 44x10°M
24.  Which species from the following list would be the strongest Bronsted-Lowry base?
a. Clog~ b. NO3~ c. Br- d. CI e. B {
Comss Loom—~40 stalest aecil’
25." Calculate the pH of 0.163 M sulfurous acid(H2S03) where K31 = 1.7 x 102 and
Ka2 = 6.4x 1 o X 7‘4,%;
a. 4.48 B35 c. 1.77 d. 7.19 e. 1.01
)C?’
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